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ADVANCE MICROPROCESSOR & MICROCONTROLLER

i @ w92 (3Aftremam 37 : 70
Time allowed : Three Hours| [Maximum Marks : 70

P () ¥R a8, 99 4 @ fE AR F 3w A7 |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii) 5% J¥ & GH YT %1 FHER TF GTe B B |
Solve all parts of a question consecutively together.
(ifi) V% 597 F1 79 78 @ JOH Fifrd |
Start each question on fresh page.
(iv) 27 yTTan @ 3R 817 1 A 7 A I & A 8 |

Only English version is valid in case of difference in both the languages.

1. (1) 8086 HTEHINEET

(a) 8T (b) 16 fae
¢ 32fw @ 4fwe
8086 Microprocessor is
(a) 8bit (b) 16 bit
(c) 32bit (d) 4bit
(2) 3FEW MOV AX, 5020 H #= o Gafia Hie %1 T I 8 ?
(a) eIE Had Hig (b) 3TaE wEifta 718
(c) TehTel HaIfya HIS (d) W waifya Are
Instruction MOV AX, 5020 H is an example of
(a) Direct addressing mode (b) Indirect addressing mode

(c) Immediate addressing mode (d) Register addressing mode

(3) IF®
(a) i w (b) e v
€) HRwM (@ T
IF is
(a) [Initial Flag (b) Indicate Flag
(c) Interrupt Flag (d) Inter Flag

(10f8) P.T.O.
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¢4 fRRfmaa?
(a) TgETE (b) g T
(c) SEIEE (d) I | HIS Tl
Bidirectional Bus is
(a) Address bus (b) Control bus
(c¢) Data bus (d) None of the above
(5) 8086 P draTd
(a) 8fae (b) 4f¥e
(c) 16fae d) 32fw
In 8086 IP is of
(a) 8bit (b) 4 bit
(c) 16bit (d) 32 bit
(6) ALE®mar?
(a) U3W AT P (b) U3H AT T
(c) U\ T Fae (d) U % Faa
ALE is
(a) Address Latch Enable (b) Address Line Enable
(c) Address Level Enable (d) Address Leaf Enable
(7) 8088 & 31T 4 favem fae i afr & 7
(a) 8 (b) 16
c) 32 (d 20
The data bus in 8088 is of how many bit ?
(a) 8 (b) 16
(c) 32 (d) 20
(8) ot argew 7df &
(a) INC (b) CMP
(c) DAA (d) ROL
Is not an arithmetic instruction :
(a) INC (b) CMP
(c) DAA _ (d) ROL
(9) W& FN @ gy forgar 2 7
(a) PUSH (b) POP
(c) MOV (d) SAHF
Which instruction write into stack ?
(a) PUSH . (b) POP
(c) MOV (d) SAHF
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(10) 3eH 3 &wa T8 8

(11)

(a) MOV CX,3152H (b) MOV AX, [SI]

(c) MOV [BX], DS (d MOV [SI], [DI]

Instruction which is not possible :

(a) MOV CX,3152H (b) MOV AX, [S1]

(c) MOV [BX], DS (d) MOV [SI], [DI]

S Az 34 = 1005 H, HThde ¥3a = 5555 H 2, it feforre tga &
(a) 6555A ' (b) 56555

(c) 4550 (d) 155A5

If segment address = 1050 H, offset address = 5555 H, then physical address
will be -

(a) 6555A (b) 56555
(c) 4550 (d) 155A5

(12) T PIC (8259) & §g= féee (IR) el &

(13)

(a) 4 (b) 8

(¢) 16 (@ 32

One PIC (8259) contains _____ Interrup Request (IR)

(a) 4 (b) 8

(¢) 16 (d 32

8255 & 4i¢ B 1 L FHT &

(a) FE W (b) I

(c) FIYC AT AL (d) IoH 8 A g TE
In 8255 port B can work as

(a) Input port (b) Output port

(c) Input or Output (d) None of the above

(14) STHE ZEH 8253 H HIITLEA &

(@) 3 (b) 4
ey 3 (d 8
In programmable timer 8253 number of counter are
(@) 3 (b) 4
() 5 @ 8

P.T.O.
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(15) PCI8251 A e Frafaadt 2 P fmd . -
(a) TXC (b) TXE
(¢) TXD (d) DTR
In PCI 8251 data rate is controlled by following pin :
(a) TXC (b) TXE
(c) TXD (d DTR
(16) RS 232C &6 RveE § sHaget 39z & o #
(a) 9-f= D-zrEy (b) 25-f4= D-zrzy
(c) zFi (d) I9UF H A HIE 7
RS 232C Bus standard uses connector
(a) 9-pinD type (b) 25-pinD type
(¢) Both (d) None of the above
(17) f= & & nfen Fgre fame 78 &
(a) DSR (b) DTR
(¢c) RTS (d) RTR
Which among the following is not a MODEM control signal ?
(a) DSR (b) DTR
(¢c) RTS (d) RTR
(18) &8 Rved [EEE-488 # fefeat wgfrdem gran 2
(a) 8-fae fafam (b) 8-faz Hem
(c) l16-Toe fafma (d) 16-faz o=
Digital communication in Bus standard IEEE — 488 is
(a) 8- bit serial (b) 8- bit parallel
(¢) 16— bit serial (d) 16 - bit parallel
(19) 8 Rved [EEE-488 § vg Hfehr fiyer
(a) DAV, NRFD, NDAC (b) SRQ, REN, EOI
(¢) EOI, ATN, REN (d) 39O | d HI1E T
Hand shaking signals in Bus standard IEEE-488 are
(a) DAV, NRFD, NDAC (b) SRQ, REN, EOI

(¢) EOI, ATN, REN (d) None of the above
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(20)

(21)

(23)

IEEE-488 ¥ w& 3wt oimga giet &
(@ 35 : (b) 6
(© 7 (d 8
In IEEE-488 number of Bus Management lines are
(@ 5 (b) 6
© 7 (d 8
Frdweft Sas Snf § wrge J9 vawdyH gar @
(a) .ASP (b) .ALP
(c) .PGM (d) .ASM
File name extension in assembly language programming is
(a) .ASP (b) .ALP
() .PGM (d) .ASM
(22) W/ g gafeE 2
(a) T (b) sRiwEE
(c) UeH (d) FfR=
START / STOP data transmission is
(a) Synchronous (b) Asynchronous
(¢c) Pulse (d) Intermittent
1/O graw fra 3= nifer ww Breft 2
(a) R (b) A AR
(c) Wum-wHees /0 d @y
I/O transfer in which higher speed obtain is
(a) Interrupt (b) Memory mapping

(¢) Program-controlled I/O (d) DMA

(24) e grEw whin el 5o vgy o A0 3 s 1/0 fEamga #i fed 9 #

(a) BRIAE (b) W-&E /O

(c) &% wH (@) (a) 3R (b) T

Data transfer scheme in which some address space are given to memory and
some to I/O devices is

(a) Data mapped (b) Memory — mapped 1/O

(c) Back plane (d) Both (a)and (b)

(25) WTEFEZIER 8051 Y JiafEH RAM &idt &

(a) 3291EZH (b) 64 93CH
(c) 128@13gH (d) 256«13ZH
Internal RAM of microcontroller 8051 is

(a) 32 bytes (b) 64 bytes
(c) 128 bytes (d) 256 bytes

P.T.O'
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(26) 8051 # 16 faz T g 2

) (b 4
(c) 6 (d) 8
Number of 16 bit registers in 8051 are
(a) 2 (b)
() 6 (d) 8

(27) e HIEH IR (805 1) FHHAE 14 Htar & a1 aures fameht v fae wnfaa

Bt &
(a) SP (b) DPTR
(¢) PC (d) PSW

When microcontroller (8051) executes arithmetic operation then register whose
flag bits are affected is

(a) SP (b) DPTR
(c) PC (d) PSW

(28) TTEHIHIIEH (8051) H HII2L & &
(a) & 8fae (b) @16 fae
(c) =m8fae d) =m16fe
Number of counters in a microcontroller (8051) are
(a) two 8 bit (b) two 16 bit
(¢) four 8 bit (d) four 16 bit

(29) 8086 ! wFHITIH 42 (EU) &1 Wi & &

(a) ALU (b) A TR

(c) e qu Tt (d) FHZFA GTE=T
Which is not a part of the Execution Unit (EU) of 8086 ?
(@) ALU (b) Flag Register

(¢) General purpose register (d) Instruction pointer

(30) 201%23\%@«“1 A9t arar 1 AT o et B |

(a) 1MB (b) 2MB
(c) 4MB (d) 8MB
20 bit address bus can access capacity of memory.
(a) 1MB (b) 2MB

(¢c) 4MB (d) 8MB (1x30)
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&

(1)

(i)
(iii)
(iv)

(v)

(1)

(i1)

(1)

(i)

(i)

(1)

8088 Td 8086 & HA FI§ 3 =R TS |

Write any two differences between 8088 and 8086.
.U, U. TR TR S R 7

What is DMA data transfer scheme ?

TOTEe 29T 1 ITFIETa] %1 gui HIfed |

Enumerate the applications of programmable timer.

8086 TG § IeTey ATfdhes TS i Gl T |

List out the logical instructions available in 8086 processor.
RS 232 C % &d CTS Ud RTS %! G91e |
Explain CTS and RTS signals of RS 232 C. (2x5)

8086 ATSHIEGT 1 ATeh TG FHTH THATE |
Draw and explain internal architecture of 8086 microprocessor.

Tt WUt #1 & 7§90 ST ] FEAE |

What is memory segmentation ? Explain its uses. (5%2)

freferiaa e 1 IeTEw H TERA & T

Explain the following instructions with the help of examples : (3+3)
(a) CMP (b) LOOP

vty & e fora % faen w Zrsfiin = @1 smfgd Fd g T |

‘Draw and explain the system bus timing diagram for memory write operation. (4)

aﬁ.aﬁ.ﬂ@mqﬁlﬁ@aﬁ.aﬁ.maﬁmmﬁﬂﬁaﬁawmm

Explain 10 mapped and memory mapped 10 techniques with suitable interfacing
diagram. :

JEHTEH T AT Aol BT gt whm i farivg i 7w |

Differentiate between synchronous and asynchronous serial data transfer
schemes and explain. (5%2)

P.T.O.
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6. (i) IUgH AT o7 Wit 8251 foau + st Iwaifirar afea aftfa Hifved |
With the suitable block diagram, describe the 8251 chip with its applications.
(i) 8255 % 8085 | FTTHIHT I THATEY |
Explain interfacing of 8255 with 8083. (5%2)

7. (i) RS 232C 99 9 HI G991 |
Explain RS 232 C bus standard.

(ii) 8051 HTESRIHITR % HTdlieh WIS TG ! THHTEY |
Explain the internal block diagram of 8051 microcontroller. (5%2)

8. (i) 8086 VR & ford wlareft v & i ferRad frad g ASCII %72 Y ¥92 BCD
18 § Fge I |

For 8086 processor, write an assembly language program to convert ASCII code
into packed BCD code.

(i) PIC 8259 %1 JTaN® WU 3@ F18Y 31N TS GUE F1 HT14 Guaey |

Draw the internal block diagram of PIC 8259 and explain the function of each
block. (5%2)

9. ol @ w wftrw feoaofi forfied
Write short notes on any two :
(i) 8086 % wgfiim Arg
Addressing modes of 8086
(i) BT FPER-8257
DMA controller — 8257
(iii) IEEE 488 99 A<
IEEE 488 bus standard (5%2)




